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1. What were the causes of the Santhal revolt?

What were its course and outcome?
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Examine the characteristics of the Birsa

movement.
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\}/ “«Champaran Satyagraha was a watershed in
""" the freedom struggle.” Explain.
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4. Discuss Nehru’s views on communalis -:Q}
secularism. 38

mﬂﬁmaﬂwﬁﬁdﬁmm%@ﬁ%ﬂm

#ifer |

es E Patna Qulam

38

6. Write short notes on any wo of the
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following :

(a) Gandhiji’s views on Satyagraha

(b) Jayaprakash sNarayan and the Quit
India Movertte
fc) Subh I‘leandra Bose and the INA
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SECTION—II
wuz—II

7. Which organization launched the world’s first
commercial rocket powered by biofuel
Stardust 1-0"? Explain in detail.
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BRICS summit’s major

_Explain the 12th
,9' f;puging issuea-—-pa.rtncrship for glot.lal
stability, shared security and innovative
growth for the development.
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e the recent basic features and

9 ]
- provisions of ‘Aatmanirbhar Bharat Rozgar
Yojana' after the spread of coviD-19

pandemic with special reference to India.
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10. Discuss between the India-European (EU)
Broad-based Trade and Investment Agree-
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secrion—IIl
wve—III

12. The pie chart provided below gives the

(in a village) under
tudy the pie chart
the questions given

distribution of lan
various food cro

carefully and

below :
Q{iﬂ acres) under various food crops
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fa) Which combination of three t:rops;,';J
contributes to 50% of the total areauw
under the food crops? : =
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(p) 1f the total area under jwar wass
1‘5 million acres, then what was th(-;"."-
area (in million acres) under rice? 0
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If the production of wheat is six timr:s
that of barley, then what is the ratio
between yield per acre of wheat and

barley?

(c)

(d) 1 the yield per acre of rice was 50%
more than that of bir_lg, then the
production of barley is what percent of

that of rice?

If the total area goes up by 5% and the
area under wheat production goes up by
12%, then what will be the angle for

wheat in the new pie chart?
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during the period 1996-2001. Study the line
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graph and answer the questions that are
based on it : )

Percentage profit earned by two companies X and Y
over the given years r

Income - Expenditure _ , (c)

% Profit/Loss =

Expenditure

Profit %
o+
o

Yea

0 - ‘%ﬂ'
1996 1997 1998 1999 200% 01

y Yin 1997

what was its income

(@) If the

(9)

If the income of two companies were
equal in 1997, then what was the ratio
of expenditure of company X to that of
company Y in 19977

The income oﬁe mpanies X and Yin
in the ratio of 3:4

. t was the respective
eir expenditures in 20007

ra&%ﬁz
/Q@e nditures of companies X and Y

in 1996 were equal and the total income
of the two companies in 1996 was T 342
crores. What was the total profit of the
two companies together in 19962

(e) The expenditure of company X in the

year 1998 was ¥200 crores and the
income of company X in 1998 was the
same as its expenditure in 2001. Find
the income of company X in 2001.
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Third Table ﬁaﬁmammﬁnma;mam:
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fa) Calculate the numbers of students who Toos| 23, |30 ] 20 ;,3; i::; ;?9: 8960 | 7760
get jobs in finance less than the 1?2 AN 19 16 | [1996] 9810 | 10220 | 8640
1
- et amt

students getting marketing job in five
years.

average salary of finance from 1992 to

19967 1
(c) Find the average annual rate at whi {\'

the initial salary offered in

increases.
(d) What was the average mon lmjary

offered to a manageme uate in

1993
alculate rence in €arning by

obs in finance from
are (per annumy) in
T+7+7+7+8=3¢
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14. S§dﬁ following questions based on the
in tion given below :

The first table gives the
in MBA class, who sought
in the areas of finance,
marketing and software. The second table

gives the average starting salaries of the
in these areas. The
ts who

percentage of

students per month (in ¥)
third table gives the number of studen

passed out in each year.

First Table Second Table

. Mar- | Soft- i Mar- | Soft-
keting | ware Ghines €| keting | ware

1992 22 36 19 23 1992| 5450 | 5170 | 5290
1993 17 48 23 12 1993| 6380 | 6390 6440
1994 23 43 21 13 1904 | 7550 | 7630 | 7050
1995| 19 37 16 28 1095 | 8920 | 8960 | 7760
1996| 32 32 20 16 1996| 9810 | 10220 8640

{ Turn Over )
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A soft-drink company prepares drinks of
three different flavours—X, Y and Z. The
production of the three flavours over a period
of six years has been expressed in the bar
graph provided below. Study the graph and
answer the questions based on it :

Production of three different flavours of soft
drinks X, Y and Z by a company over

the years (in lakh bottles) \S\'
x O w\@
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(a) For which year, the percentage of
rise /fallin production from the previous
yearis the maximum for the favour ¥?

(b). For which ﬂavE;lthz averags annual
£ %3

production mum in the gven
period? Q}
(c) production of flavour Zin 1997

908 is what percentage of the total
ction of flavour X I 1995 and

What is the difference bcrwecn the
average production of flavour X in 1995,
1996 and 1997 and the average
production of flavour Y in 1998, 1959

and 2000?
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(e) What was the percentage df:dinc m‘;ji::#
production of flavour Z m 2%1,';
ction in L

compared to the produ - @; .

@mwmmmmm%xgg
7 o 3 A A &1 8 T ¥ A A G
hmmﬁhmw?’@m?ﬁ?
ﬁmw%tmﬂmmﬁﬂﬁﬁwto;

&



{ 4D, )] A"
021} 07 /02

X, Y 3 Z W & viae ¥4 77 Fifrg =7 4

Wmﬁsmwm(wa?asﬁﬁ)
Bx Oy Oz
/ 60 + 60 60 60 60
/ 55 ] ss q ss[] V] 55
ol #1  le B 1] auf
A ls | V1] e 1 as [
wi b § 15. 4 21 G 715
30 + f /] ; f j /
AL Al Al B Ads ¢
20--:; % 5 //, /_}4 /]
LUl A albal kel | b
TUllullp 788N g
oL AU MUY AORH L ¢

1995 1956 1997 1998 1999 2000

Fole %ﬁa%lggsamwgﬁ%gm

g Z W F 1997 T 1998 F g
AN farem wfowm e

¥) X T A ¥ % 1995, 1996 w6 1997 ¥

HHa Iured e Y I a1 9 % 1998,

1999 W 2000 ¥ g 3amed # e
27

F) Zvdt & 99 % 39T #1998 F wlE 2000
A fad gfdera <t firaae ==t 6 187

8



